EAGRAROBREERT — 2 N— ABISH —F

20208982080 (H) 2@E4m4H

mﬂi% 3t 1B752 (R&) [EE] £2 (xwlw | mEmml - |5 5 o 8
[A&4) 1 7% :7,600,000 23 :3,000,000 " ~ 33 :1,900,000 3 43 :1,100,000 @ 5 j& :760,000 M
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
- RN RERE 1. = . . ERE#= (EXR)
11519 FAILAET 3 550 23 1(1_1)6 2-2 36.7 | 93.4 2 :,766) MEEE
R:O—KA+ra7 B:Z2/ExX> A4S
3 5 v o4 | BAKH— 1:11.6 1-1 36.8|93.4| 5 514 | EERE— (RR)
EH 5|¥Yadi—YH— 57.0 7E) (6) | = b-EE )
QXL vvhs/xEE BE—FFIT R HE RfT
SYs . 4 3 | EoHN 1:11.9 15-15 [ 35.1] 90.6 | 13 | 482 |ATEER (ER)
318l14| ¥TNEEA 55.0 (1 1/2) (a) | TRE
LR bOT BieEVA8FT HIMREY K
N . C. JLAx—J . — AT (ER)
v RO—= 3 g (17,1;% 5-5 36.7| 90.6 | 1 <4+884) zgﬁém‘/;
RiAL>TSvoel B/ 7942 ERT7— L
T > He 1. - . . ERAEE (EX)
Sy Tk — € 4 xa (1717179) 14-14 [ 35.5| 90.6 | 8 (4;8) i
L:ANTz—JI B:Y—ITXLA 2 KR— RS XEXT—-TN
AR S SIW, 2 H o4 glﬁ)ﬁu 1:(122).2 -1 |36.2| 87.7 | 7 | 510 ﬁ;ﬁgg% &R
QAL TanE—5— BitlrhU—7 48 kx4 K
S N > 3| EPE 1:12.4 2-2 37.5| 8.0 | 6 456 | RHET (RR)
HZXFIT 7L 77 550 (1 1/4) g |EESHBIHRE
L:hT/RZ47 BT vT7-T i/ vie]
;= tr 4 | REWE 12,4 12-12 | 36.3| 85.8 | 9 500 | PEEIE# (FH)
8l5lg| 77V IR 0 Asio 7€) 4o | B HAL-2EK-2
R:T 47 hT—EY B:vH /I RN () HAa-KL—Ya>AET7
FRAEABA 112, - . . FEBE (EXR)
olz7lisl@rvsv/4% 8BRS Gey | PR T e
R:7UF—v B:FTavI1a4C K EEitae
S S 4 3 | =X 1:12.7 8-8 37.0| 83.0 | 14 | 518 |FEERRIM (R®)
10 7 XM av¥xvav 55.0 (1 1/4) (-5) TAZRBF It
Ri*xfavR—5— B:AA4 aRr—i * g
- - 3 | JIETH 1:12.8 7-7 37.3| 82.2 | 4 518 | AIRA— (R)
M ;- PSR Pt it 53.0 ¢ () | ) EEE-LF (T2
A:Carpe Diem #F:Mane Princess Catherine Jenning
S5 NS 44 | HHEES 1:13.1 8-8 37.4| 79.5 | 12 466 | HAKEE (ER)
12712/ ®Z71>IT3Ix> b 57.0 (1 3/4) 6) *IBSE,
LW—=F—29 7 B:Z1>T7rVa H &K #E8S
S . # 3 | FIEEZ 1:13.3 2-4 38.4|78.4 | 10 | 498 |=AE (FR)
13/ 815/ 71 +=> [B] 55.0 (1 1/2) © | ) EEH—LF T2
RIAYC Ty BN LAY — #H B
R HALBAF 1:13.4 - 2| 77 458 | SHE— (RR)
1] > R SR (o N et I e B =
:IANXRZXTNYT BriR—LT70LAX FERS
: 43 | EIEE 1:13.5 8-10 37.7| 76.0 | 15 | 450 |BEEIE#H (ER)
15/ 11 1 I/ IT—-)b 55.0 (1/2) (-2) BREE—
v TNVRry b B4 =23 HES
@ 21 L
£ 48.4-36.8
NA>Z24 L | 12.5-10.7-11.6-12.3-11.8-12.7
® I—F—@EBIERL
13—=7—
2al=5"=
Jol=7r= 5(9,10,15)-(2,3)4(1,7,12)6(13,8) 11-14
43—+ — (x¥5,9,10)15(2,3)4(7,12)1,6(13,8) 11,14
[ N5
B 9 520M 714K 5-9 940M e E 3-5 930M EE 5-9-14 109,310M
B B 9 200/ 9-14 10,680M B = 5-9 2,120H EH 9-5-14 384,670
5 310M 5-14 18,290M B H 9-5 4,060
14 3,250

ABRICOVTHRTEEERROODE, THEB LS,




